
$500,000 INVESTMENT FOR LBP YEAR 1 YEAR 2 YEAR 3 YEAR 4 YEAR 5

19.58% 41.59% 87.42% 100.57% 115.71%
Calculating Return on Equity (ROE) $97,901 $207,964 $437,100 $502,861 $578,560

TOTAL REVENUE $3,720,223.65 $7,902,624.12 $16,609,782.37 $19,108,720.81 $21,985,285.29
Shareholder Equity $3,800,000 $3,800,000 $3,800,000 $3,800,000 $3,800,000
Assume shareholder equity to be $3,800,000 for simplicity

𝑅𝑂𝐸= (𝑁𝑒𝑡 𝐼𝑛𝑐𝑜𝑚𝑒) / (𝑆ℎ𝑎𝑟𝑒ℎ𝑜𝑙𝑑𝑒𝑟 𝐸𝑞𝑢𝑖𝑡𝑦)

ROE 0.9790062237 2.079637926 4.370995361 5.028610739 5.785601392

Equity Position 0.2 0.2 0.2 0.2 0.2
Investment $500,000 $500,000 $500,000 $500,000 $500,000

Investment Return % = Equity Position × ROE 

Investment Return % 19.58% 41.59% 87.42% 100.57% 115.71%

Investment Return = Investment Return % × Investment 

Investment Return $97,901 $207,964 $437,100 $502,861 $578,560

Please note that our projections are deliberately conservative, reflecting our cautious approach to forecasting. We prioritize realistic 
expectations to ensure sustainable growth and manage potential risks effectively.


